
 

Today
Dalton's Law of Partial
STP

Skip Chapters 9 11 12
Do parts of Chapter 10 Energy

Chapter is equilibrium today

Tomar chapter 14 acid base

Dalton's Law of Partial Pressures

The pressure of a system is the sum
of all of thepartialpressures
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What is the pressure in a system with

0 62 atm of Hz and o 92 atm of Nz

Pt P Pay 0.62 atm 0.9Zeta

I54atmtotaly
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what is thepressure in a container with a

volume of 10.02 filled with 1.62g ale
and

30.7gHz if the temp is 25C

D Az 2.016gmole
y 10 OL

n 30.7gHz d 1.62gNz
Nz 28.02g mole

T 25 C 273.15 298115 K

R 0.0821 Ike

MHz 303.7gHzx É 15.228174
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My 1,62gabt 2g 2
0.057815845



IMI Patton's
Law

D MRI Gath
D kztto.gg13co.o31zs

37.31618218 atm 37.32ft
Standard Temperature Pressure

STP Conditions

Standard temp 273.15
K or 0

Standard pressure 1.00 atm

what is the volume of 3.62 moles

of gas at
STP

P 1.00 atm
T 273 15 K
M 3 62 mole
y
R 0.0821 LIK
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81.180726 L

81.212

what is the volume of 1.00 molegas
at STP

PU MRT
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22.465615
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What is the volume of 32.6gCity
at STP

I
Px net

n 32.6gCity x Flighty
T 273.15k
R 0 0821 Latte

Roadmapf I mole gas 22.4 L STP

g city
more City L City

323.6gCity x T.mgtIyx ecyCHt 45545955L

452



3Hz Nz 2MHz
6.72mole excess L

6.72 mole Hz are reacted with
excess Nz

at STP Howmany
Liters of MHz are

formed in the reaction

Roadhat
me
22.4

st

moleHz mole Nlt L alt

3
Exact 3

6.72moleHa x x Fit 1001,352 L NH3

100.44132



Chapter

Energy of transitions PhaseTransitions

Solid 1 liquid liquid Is gas
phase transitions

of
quid Bu trans.tn
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so Tutsisuse
Inotheranbeinterfeatre

Energy

How do we calculate the energy required
to change the temp of an object or

the

temp change for a givenenergyamount

SpecificHeat C Cafe

The amount ofenergyrequired to increase

the temp of I g material by
IC



Energyunit
Cal calorie the amount ofenergy required

to raise IgH2O by Ic

20C F I gtfo zig
lg raised
1 C I Cal

E

4.18610012162
Food calorie I Cal 1 kcal

1 Food calorie I Cal 1kcal 1000cal

Specific Heat C Cage

H2O 1.01 Cayge

H2O 0.4897 cage

Cua 0.09197 Cage



Energy
MC AT g gaC.g

m mass g

C cage
IT Change in temperature

Tf Ti

Ex
How muchenergy would be required

to heat

a 300 mL Cup of tea from 250C to

100 C if the duo 1.00ghul and C 1 olcage

E MCAT
E
M 300 WL X 300.9
C 1 01 cat goc
AT Tf Ti 100 E 25 C 75 I

E 303,811.04027582
24425cal
23000cal23kcalI

2 3 104cal
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sin É
Etta
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forces
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forces
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Intermolecular
attractive
face
Hydrogenbonding

solid É
Locked

Liquid

PhaseTransition Constants
Units

He Heat of fusion melting or freezingcall
solid liquid

freezing

Cag H Heat of vaporization Boiling
or Condensing

liquid gas
Condensing
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Ex
How much energy is required

to Change

the temperature of 150mL Azo from

liquid at 25 C to steam at bloc

The Hf 79.7cal g
Hy 540cal g

Citzo 1.01callge CHO
0.4969

Cage
1102 For

1 I Isaid

instant



Et MCAT MH t MCAT

M 150 g m 150 g m 150 g
C 1.01 Cayge Hy 540Call

Cg 0.4969 Callgoc
DT 100 25 751 AT 110 100 10 c

6 1501.1082751 156588 soso.taiidg.co

93107.85

sis figs

Boiling 81000 cal

930007g9 3 10 Cal



Burn from 1mL H2o 100C

If'm
1008

sq
75 C Ap

Energy imparted to hand

E MCAT noog 1.01cal g c 75

75175cal 76cal
Burn

f
1.00gsteam look

liquid Loog
MH

Isoc MCAT

E MCAT t MH

1.00 g 1.01call 75 c 1.00g 540 9

75 75 540 Cl

6151.75cal
u

Lellecalf Burn from Same

amount of steam


